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, ~ 9th Class 2019
[aath (Sclence) | = Groupd | _Papor-|
rime: 20 Minutes | (Objective Type)| Max Marks: 15
Note: Four possible answers A, B, C and D 1o each
~question are given. The choice which you think is
correct, fill that circle in front of that question with
Marker or Pen ink in the answer-book, Cutting or

filling two or more circles will result in zero mark in
that question.

1-1- The square root of a2 - 2a + 1 jg —.:
(a) +(a+1) (b) +(a-1) v/
(c) (a-1) (d) (a+1)

2 A diagonal_ of a parallelogram divides it into -
congruent triangles:

(@) 2 v (b) 3
(c) 4 - (d) 6

3- Two parallel lines intersect at --- point / points:
(@) Three (b) Two
(c) One (d) No v

4- The diagonals of parallelogram --- each other:
(a) Bisect v (b) Trisect

(c) Bisect at right angle
(d) Trisect at right angle

2 1
9- Order of transpose of matrix [0 ;] Is:
_ ‘ 2

(@) 3-by-2v (b) 2-by-3
(c) 1-by-3 (d) 3-by- 1

6- x =0 is a solution of the inequality ----:
(a) x>0 (b) 3x+5<0
(c) x+2<0 (d) x-2<0 7V




& A")’ Pﬁintun the blsactur of an angla In - rdm
its arms:

(@) Un-equidistance
(b) Equidistance v
(C) Large distance
(d) Small distance

8- (3+4/2)(3- \/2) is equal to:

(@) 7V (b) ~7
(c) -1 (d) 1
9-  Unit of ratio is ----:
(a) Degree (b) None v
(c) cm (d) =
10- Point (-3, -3) lies in quadrant:
(a) | (b) I
(c) Il v (d) IV
11- The logarithm of unity to any base is ----:
(a) 1 (b) 10
(c) e d) 0V
12- A ray has end points:
(@) 1V (b) 2
(c) 3 (d) 4
13- Distance between points (0, 0) and (1, 1) is ----
(@) 0 (b) 1
(c) 2 (d) N2
14- The conjugate of 5 + 4iis ----:
(a) -5 + 4 (b) -5 -4
(c) 5-4i vV (d) 5 + 4i

15- In a parallelogram opposite angles are ----:
(a) Perpendicular (b) Equal v
(c) Unequal (d) Acute



(Panl)

. 2. Write short answers to any Six (6) questions: 12
(i) Define column matrix.

[ A matrix is called a column matrix if it has only one

2
| 1
column. e.g., M = [0] and N = [0} are column matrices

1

of order 2 — by — 1 and 3 — by — 1 respectively.
(ii) Find the transpose of the matrix: B=[5 1 -6]

Ansg Given, =[5 1 0]
O
Transpose: B‘={ 1}
(iii) Simplify: 125 .

Ans 3\Z125 = (—125)113
=[—(5 x 5 x 5)]'3
— [__(53)]1/3 _

— _53x1/3 = _Q'
| — ___5 :
(iv) Write real and imaginary parts of the number:
-1+ 2i x
Ans Real Part = —1
Imaginary Part = 2i
(v) Express in scientific notation: 83,000
10000
Ans g 83000 = 83000 * 75000
- 53235 % 10000

= 8.3 x 10*
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(vl) Find the value of X log3 X =4
Ansg log, x = 4

By writing in exponential form, we have:
x = 34
Thus, x = 81
dy — 22 ¥ .
(vii) Evaluate Ly;a—" for x=-1,y=-9,z2=4

Ans By putting the values of x, y and z in the given
expression, I.e.,

X3y — 2z _ (=1)°%(-9) - 2(4)

e (= d)
ChE9) 8

BT

— 8

| Llo

(viii) Rationalize the denominator : '7 > \/3

'Ans SR 581 L W 35
7-2\5 7-246 7+2\5
58(7+§[)
~ (7 - 2\/5)(7 + 2\/5)
58(7+é[)
" (7)2 - (2\/5)
8(7+§[)

49 — 20
~ 58(7 + 25
9
= 2(7 ++/5)
(ix) Factorize: 24x? - 65x + 21
Ans 24x2 — 65X + 21
= 24x° — 56x — 9x + 21
=8x(3x—-7)-3(3x-7)




Factors of 102xy2z = 2 x 3 x A AR\« Y x[y\x
Factors of 85x2yz = O X|17 X x |x x xvix
Factors of 187xyz2= 11 x\17/«
= 17xyz

(i) Solve the equation:  \/Bx -7 —x + 10 =0
Ansg \/5X,—7—\/x+10=0 et

e \/5x—7=\/x+10‘
Squaring both sides, we get
(\/5x—7)2=(\/x+10)2 |
OX—-7=x+10 '
.5X—:X_=10+7 S
4x = 17
w AT
GX= o
(iii) Solve: = |2x+3|=11
(D 2x+3=11
 +2x+3)=11
2x+3 =11 - : —(2x + 3) = 11
2Xx=11-3 ; - 2x+3=-11
9% =8 i : 2x=-11-3
xﬁg ; 2x = —14
. i
X=4 - X = 2
X=—7

(iv) Find the value of m and c of 2x -y = 7 by
expressing it in the form of y = mx + C.
(XD Given, 2x-y=7
| —y=-2x+ 7
y=2X—1{ ' L (1)
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By comparing equ (1) with y = mx * ¢, we get -
m= 2
and C ==y
(v) Define origin.

EX® The point O, where x-axis and y-axis meet is called Origin.
(vi) Find the distance between the points:

A(-8, 1), B(6, 1)
Ans 2 A(-8, 1), B(6, 1)
Here, X, =-8,y, =1

X, = 6, yz =
The Distance Formula is:

d =/(x = X,)? + (y, — y,)?
=\(6 - (-8)2 + (1 - 1)
=\/(6 +8)?+ (02

=
(vii) Define scalene triangle.

LD A triangle is called a scalene triangle if measures of |
all the three sides are different.

(viii) State S.A.S. postulate.

Ans 2 any correspondence of two triangles, if two sides
and their included angle of one triangle are congruent tg
the corresponding two sides and their included angle of
the other triangle, then the triangles are congruent.

In AABC «— ADEF, shown in the following figures,

AB = DE
it ZA = /2P

AC = DF
A

Tk

B C
then AABC = ADEF

E

F
(S.A.S Postulate)



l 1 A figure formed by four non-collinear points in tl
7t 3 ! 1€

s called a parallelogram if:

plan® el
T b opposite sides are of equal measure:
5 its opposite sides are parallel; s
3 measure of none of the angles is 900
Write short answers to any Six (6) questions: 12

. A

i) Define the bisector of a line segment.

A !lne T Is calle_d the bisector of line segment if / is

perpenfjlcular to the line segment and passes through its

mid-pomt.

(i) 3 cm, 4 cm, 5 cm are the length of the triangle.
Give the reason.

5y nriks) B . (“)
4+5>3 (iii)

From (i), (ii) and (iii) it is proved that the given set can from
a triangle. Because, by theorem, the sum of the lengths of any two
sides of a triangle is greater than the length of the third side.

(iii) Define congruent triangies.

QD Two triangles are said to be congruent written
symbolically as, =, if there exists a correspondence

——

between them such that all the corresponding sides and

angles are congruent.
(iv) Find unknown value of x in given figure:

\Ecm

1cm
X As the above triangle is right angled AABC. So, In
right angled, by Pythagoras Theorem:

(MAC)? = (mAB)? + (mBC)?




ne side of a triangle is equal to the
o sides then the triangle is g

sum of squares of the other tw

right angled triangle.
(vi) Find area of given figure:

Jem

[X® | ength of the rectangle = 6 cm
Width of the rectangle = 3 cm

Area of the rectangle = Length x Width
' S =6x3
=18 sq. cm
(vii) Define the triangular region.

@ A t_rian‘gular region is the union of a triangle and its
interior, i.e., the three line segments forming the triangle

and its interior.
(viii) What is meant by circumcentre?

m The point of concurrency of the three perpendicular
bnlsectors of the sides of a triangle Is called the
circumcentre of the triangle.
(ix) Construct a AABC in which:

mAB = 4.2 cm, mBC =3.9 cm, mCA = 3.6 cm

war>
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== construction:

ﬂ'P’Take a line segment AB of length 4.2 ¢
Take A as centre and drawn arc of 3.6 rc?m radius

Take B as centre and draw an .
This cuts the first arc at C. " 28 i dis

Join Cto A, B.
ABC is the required triangle.

(Part-ll)

oTE: Attempt THREE (3) questions i '
N o, 9 is Compulsory.q ns in all. But question

| @.5.(a) Solve the system of linear equations by

f:ramer’s rule: (4)

2x -2y =4
3Ix+2y=6

E@ For Answer see Paper 2017 (Group-1), Q.5.(a).

A _ a4 2m aZn

S mpty: (ET”-“-) (a“‘"‘) (a“*’) )

D> For Answer see Paper 2018 (Group-Il), Q.5.(b).

Q.6.(a) Use log table to find the value of: (4)
0.8176 x 13.64

x=0.8176 x 13.64
log x = 10g (0.8176 x 13.64)
= log 0.8176 + log 13.64
= 0.0874 + 1.1348

log x = 1.0473
Antilog (log x) = Antilog (1 0473)
x=11.15
(b) fm+n+p=10 and mn + np + mp = 27, then

find the value of m? + n? + p?. (4)
X For Answer see Paper 2017 (Group-1), Q.6.(b).
Q.7.(a) Factorize: 9x* + 36y* (4)
D 9 + 36y* = Ox* + 36y* + 36x%y? — 36x°y*

= (3x2)2 + (BY)? + 2(3)(6y) — (Bxy)”

= (32 + 6y?)° — (Bxy)*




= (3x% + Bxy + 6y*)(3x? Bxy + By?)
(b) For what value of k I8 (x + 4) the H.C.F of ,.

(2k + 2) and 2x? + kx ~ 127 * %
LXD> For Answer see Paper 2016 (Group-l), Q.7 (b (4
-3
Q.8.(a) Solve: -5 < - 2 =<1 @
LD Firstly, multiply by 2

-10<4 - 3x <2

Substracting by ‘4’ we get
-10-4<4-3x-4<2-4
-14 < -3x < -2
Dividing by -3, we have
%“ > ::33—)( > % (Change of Sign)
14 2

> &Py

(b) Construct the AABC, also draw the bisectors
their angles: (4)

mAB = 3.6 cm, mBC = 4.2 cm and m/B = 75¢
XD For Answer see Paper 2016 (Group-l), Q.8.(b).

Q.9. Prove that any point inside an angle, equidistant
from its arms, is on the bisector of it. (8)

XD For Answer see Paper 2015 (Group-l), Q.9.
OR

Prove that parallelograms on the same base and
between the same parallel line (or of the same

altitude) are equal in area.

NP> Given:

Two parallelograms ABCD and ABEF having the same

base AB and between the same parallel lines AB and DE.



parallelogram ABEF.
Proof:

area of (parallelogram ABCD) :

= area of (quad. ABED) + area of
(ACBE) | (1)

area of (parallelogram ABEF)

= area of (quad. ABED) + area of
(ADAF) (2)

In AS CB_E___and D_{\_F
mCB = mDA

[Area addition axiom]

[Area addition axiom]

[opposite sides of a
parallelogram]

lopposite sides of a

parallelogram]
<CBE = ZDAF [.- BCJ|AD, BE||AF]
ACBE < ADAF

- area of (ACBE) = area of (ADAF) (3) | [cong. area axiom]
Hence area of (parallelogram ABCD)

= area of (parallelogram ABEF) | from (1

mBE = mAF




